(CATFORD ==
NGINEERING

All Prices Excluding GST P RODUCTS

Phone: 0418 641 566

www.catford.com.au sales@catford.com.au
EATON HYDROSTATIC TRANSMISSIONS

<

Please call or email for prices and availability.




EATON HYDROSTATIC TRANSMISSIONS
ATFORD *~z
NGINEERING

PRODUCTS

Make Model Page
Eaton Medium Duty Piston Pumps 22
Eaton Medium Duty Piston Motors 23
Eaton Heavy Duty Piston Pumps 24
Eaton Heavy Duty Piston Motors 26
Eaton Light Duty Transmissions 27

Due to fluctuations in the Australian dollar and
the economic climate, please be advised that all
prices are subject to change.

Please contact us to confirm pricing.

Charles:

Mobile 0418 641 566

Email sales@catford.com.au
Web  www.catford. com au

[ GA’I‘I"IIIIII] ,. ; 1

HYDRAULICS




EATON HYDROSTATIC TRANSMISSIONS

E:TN __
72400 - Variable Displacement, Closed Circuit, Servo Controlled .' 3
Medium Duty Piston Pumps

Displacement .. Charge Pump Maximum Continuous .
Input Output  Auxiliary . . Pump Price
Shaft Sell (Wit Rotation  Displacement Control Speed Flow Torque Pressure Part Number (Ex. GST)
cCc d (cc)
(rpm) (lom)  (Nm) _(bar)
25mm 15T| 5/8" 9T | 2 Bolt |Right Hand Manual
41 25 Spline Infernal | SAE-A (W) 6.9 control 3600 140 237 350 |72400-RMP-04
" ’ 5-15 bar
41 25 |23mm 15T 5/8" 9T | 2 Bolt |Right Hand | = 5 hydraulic | 3600 140 237 350 |72400-RIW-04
Spline Internal SAE-A (@]
remote control
Spares
Part Number Description
72400-908 72400 Seal Kit 03 & 04 (Two Required for Tandem Units)
72400200 74200 15T Spline Input Drive Shaft (Used on Tandem Front Pump)
70142915 72400 Cover Plate to suit SAE-A Flange Mount
70344-51 74200 CW Rotation Valve Plate

) (CICATFORD) | -

HYDRAULICS 5



cateng5
Rectangle

cateng5
Rectangle


cateng5
Text Box
Price
(Ex. GST)

cateng5
Text Box
Price
(Ex. GST)

cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle



EATON HYDROSTATIC TRANSMISSIONS

E.-T-N
Models 74118, 74318 & 74624
Medium Duty Piston Motors

Displacement Shof Fixed / Variable Maximum Continuous ot Nomber Price
Displacement | Speed Flow Torque Pressure (Ex. GST)
cc d
(Nm)  (bar)
20 1.2 | 7/8" Keyed 2 Bolt SAEA | 1-1/16 UNO Fixed 3600 88 113 350 |74118-DAP-01
41 25 13T Spline 2 Bolt SAEB | 1-1/16 UNO Fixed 3600 176 226 350 | 74318-DAK
83 50 15T Spline 2 Bolt SAE-B 1-1/16 UNO Fixed 1500 150 329 250 74624-DAB
83 5.0 1" Keyed 2 Bolt SAEB | 1-1/16 UNO Fixed 1500 150 329 250 | 74624-DAH
Spares
Part Number Description
74100-904 Seal Kit to suit 74111 or 74118
74418-904 Seal Kit to suit 74418, 74348 or 74318
74640-904 Seal Kit to suit 74624

(CICATFORD) [ - 3

RAULICS i



cateng5
Rectangle


cateng5
Rectangle


cateng5
Text Box
Price
(Ex. GST)

cateng5
Text Box
Price
(Ex. GST)

cateng5
Rectangle


cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle


EATON HYDROSTATIC TRANSMISSIONS

E.T-N
Series 1 - 33, 39, 46, 54, 64 & 76 Models
Heavy Duty Piston Pumps

Displacement Fixed / Auxili Charge Pump p Maximum Continuous Price
Shaft Variable MUXI ‘4T Rotation Displacement CUmpl Part Number (Ex. GST)
cc a Displacerment ounting (<) ontrol  'Speed Flow Torque Pressure .
(om) _(lpm) _(Nm)__(bar)
14T Spline No Right M |
105 6.4 | 12/24 | Variable |Auxiliary | Hand 34.7 el 3720 99 441 420 | 6423199
pitch Mounting| (CW) conire
Seals
=
Part Number Description (EX_YEZT)
990088-000 Seal Kit fo suit 33, 39 & 46 Models
990090-000 Seal Kit to suit 54 & 64 Models
990091-000 Seal Kit to suit 76 Model
990231-000 Shaft Seal Kit to suit 33, 39, 46, 54 & 64 Models
990019-000 Shim Kit to suit 54 & 64 Models
990287-000 Seal Kit for Manual Controller to suit 54 Model
Shafts
_ Price
Part Number Description (Ex. GST)
105050-000 14T Shaft to suit 5421 & 6421 Models
105058-000 21T Shaft to suit 54 Model
113277-000 21T Ext. Shaft to suit 5423 Model
104504-000 23T Shaft to suit 3321, 3921 & 4621 Models
113203-000 23T Shaft to suit 5423 & 6423 Models
113275-000 23T Shaft to SAE-B Charge Pump Sub Ass.
Charge Pump Spares
o Price
Part Number Description (Ex. GST)
103249-085 A-Pad 0.85CI Charge Pump Shaft
101007-000 Standard 1.28Cl Charge Pump Shaft
101588-028 1.28CI CCW Charge Pump Sub Ass.
103357-000 Shaft Seal for B-Pad Charge Pump
102919-000 SAE B Gasket for B-Pad Charge Pump
105106-002 A-Pad & B-Pad Charge Pump Gasket
101179-000 Standard Charge Pump Gasket

N

(CICATFORD) | -

HYDRAULICS 5



cateng5
Rectangle


cateng5
Rectangle


cateng5
Rectangle


cateng5
Rectangle


cateng5
Text Box
Price
(Ex. GST)

cateng5
Text Box
Price
(Ex. GST)

cateng5
Text Box
Price
(Ex. GST)

cateng5
Text Box
Price
(Ex. GST)

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle



EATON HYDROSTATIC TRANSMISSIONS

E.T-N
Series 1-33, 39, 46, 54, 64 & 76 Models

Other Spares
Price
Part Number Description (Ex. GST)
990427-000 Rotating Group fo suit 46 Model
990413-000 Cylinder Barrel Kit to suit 46 Model
104226-000 Swashplate Sub Ass. to suit 39 & 46 Models
104463-000 Swashplate Sub Ass. to suit 54 & 64 Models
104198-000 Bearing Plate to suit 46 Model
103852-000 Bearing Plate to suit 54 Model
103236-000 Thrust Plate to suit 33, 39 & 46 Models
103809-000 Thrust Plate to suit 54 & 64 Models
105101-000 Valve Plate CW Propel to suit 54 Model
105095-000 Valve Plate CW Propel to suit 64 Model
105098-000 Valve Plate CCW to suit 64 Model
101077-000 Piston Slipper Sub Ass. to suit 54 Model
101187-000 Check Valve Sub Ass. to suit 33, 39, 46, 54 & 64 Models
8734-000 Gasket Rear Cover to suit 33, 39 & 46 Models
103042-000 Gasket Rear Cover to suit 54 & 64 Models
101778-000 Gasket Rear Cover to suit 76 Model
104199-000 Piston Slipper Sub Ass. to suit 46 Model
6042026-001 Piston Slipper Sub Ass. fo suit 64 Model
8770-113 Back Up Ring (Teflon) to suit 33, 39, 46, 54 & 64 Models
8828-000 Gasket Mounting Flange to suit 33, 39 & 46 Models
8826-000 Gasket Mounting Flange fo suit 54 & 64 Models
95733-054 Link Control to suit 54 Model
990417-000 Hold Down Kit Sub Ass. to suit 54 & 64 Models
990637-000 Pin Servo Linkage to suit 33, 39, 46, 54 & 64 Models
101815-000 Gasket Mounting Flange to suit 76 Models
101930-000 Gasket Pressure Override
102554-000 Gasket Control Block
102764-000 Control Link Sub Ass. to suit 76 Model
8835-000 Controller Gasket
990661-000 Neutral Lock Out Switch

[u'l Gﬂ'l'l"ﬂnn] flw 5
HYDRAULIGSH®) ©

i



cateng5
Rectangle


cateng5
Text Box
Price
(Ex. GST)

cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle



EATON HYDROSTATIC TRANSMISSIONS

E.T°N
Series 1 - 33, 39, 46, 54 & 64 Models
Heavy Duty Piston Motors

Seals
Part Number Description (E;riég_r)
990089-000 Seal Kit to suit 33, 39 & 46 Models
990709-000 Shaft Seal Kit to suit 3333, 3933, 4633, 5433 & 6433 Models
108395-000 Shaft Seal to suit 3333, 3933, 4633, 5433 & 6433 Models
990019-000 Shim Kit to suit 54 & 64 Models
990029-001 Seal Kit for Valve Block to suit 33, 39, 46, 54 & 64 Models
990104-000 HP Seal Kit for Relief Valve to suit 33, 39, 46, 54 & 64 Models
Shafts
Part Number Description
105056-000 14T Shaft to suit 5431 Model
112484-000 14T Shatft to suit 5433 & 6433 Models
103226-000 21T Shaft to suit 33, 39 & 46 Models
113338-000 21T Shaft to suit 5433 & 6433 Models
112742-000 Drive Shaft Sub Ass.
Other Spares
Price
Part Number Description (Ex. GST)
990413-000 Cylinder Barrel Kit to suit 46 Model
104198-000 Bearing Plate to suit 46 Model
103852-000 Bearing Plate to suit 54 Model
103236-000 Thrust Plate fo suit 33, 39 & 46 Models
103809-000 Thrust Plate to suit 54 & 64 Models
105099-000 Valve Plate to suit 64 Models
103042-000 Gasket Rear Cover to suit 54 & 64 Models
103877-000 Gasket Kit fo suit 54 & 64 Models
990094-001 Overhaul Gasket Kit to suit 54 & 64 Models
101077-000 Piston Slipper Sub Ass. fo suit 54 Model
6042037-001 Piston Slipper Sub Ass. to suit 54 Model (FC)
990417-000 Hold Down Kit Sub Ass. to suit 54 & 64 Models
102331-000 Servo Piston Sub Ass. to suit 33, 39 & 46 Models
103223-000 Sealing Washer fo suit 33, 39, 46, 54 & 64 Models

GA'I'FOIIII] f
6 [u'l HYDRAULICSH .



cateng5
Rectangle


cateng5
Rectangle


cateng5
Rectangle


cateng5
Text Box
Price
(Ex. GST)

cateng5
Text Box
Price
(Ex. GST)

cateng5
Text Box
Price
(Ex. GST)

cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle


cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle

cateng5
Rectangle


cateng5
Rectangle


EATON HYDROSTATIC TRANSMISSIONS

E.T-N

Model 7
Light Duty Transmission
Pump Displacement  Motor Displacement :
(Variable) (Fixed) ey o
: - rice
Rotation Output Input Continuous | Part Number (Ex. GST)
CcC @ CcC Cl Power '
0-76 0-047 | 126 077 R'g(*g\'jv‘)’”d 3600 2150 3 14 700003
= 02 75} (he. Max:
. : 5,106,590 = e =
V10,2006, 7 |4 380420 | sl —— 43N]
BO.2071 [1.5173.43] e 18,87 [625]
N88472) | et 1= Whcuning Susface
(2 Maces) |
Bleeditvain (£}
e labie J Sarabqnt Thread - & Port
I | W 0-rng Boss {lof 48 inch
1420 UK | B : neminal tuting o)
Thigad x 127 | J Wisdruft i per SAT - 1514 Spee
010w E‘,‘IE‘I'F :T"'I' (1) - | 18 % 172 Wosanif Key (£3)
oviried Provided By Cusiomer
input Retation | Curdeames S by
. . | (A28 7T
o - 185571831 \ / m‘gﬂ 47l
] st RELEREL || ———
[2.38) [EELTEFS]]
114949 |
(472 | Ay |
2 I | | !
Foces) E Durnp [ | fmowneer
| A58 g A — " | BRI ERGH
[ERL) Py 17 MA7E8T
[ A&/ 683 152 1 16 HS 4T
10173 108 | = [000x 6362
x 78068 Il_?‘“i'b;?lﬂ_ Da
10,4 [A1] Déx Thiw for Mitg 21,01 [427)
for 1 inch (s, Boits I | i
{4} Torgue 1o 2 78m T e | = - o
mn»rT;n 17,3 [ 8| 1245007 24 [1.357)
LT F4.804, 79 L~ nu
12.36) = :
1872
Ehiant L 1I0A4 3516 UNC Theead x 14.7 58] Min s
:;}p;fsp::xm [O&ET405T] Max hmm W Do i 12170
Yremr Pes foust ‘ cmuﬂ:qmu:mnmm—m i
1 ol i | | 1senanses
282115 [.B2500.6245] Dix
2223 [8.75)

Mummm&ﬂ‘ﬂﬁﬂ‘mﬁ' =

for opticnal oukpuat rotation
f5lops must be provided by
rAFsIeEmer, o inkane)

M, reconmmended contial angle 13°
for cgtional Gukput fotation

(skoprs mursd o prosided by
cursiomer, on Tinkaga),

1.."_

CATFOR

(b [

kR



cateng5
Rectangle


cateng5
Text Box
Price
(Ex. GST)

cateng5
Rectangle



